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Question 1
Question Type: MultipleChoice

An LTM Specialist is troubleshooting a problem on an eCommerce website. The user browses the
online store using port 80, adding items to the shopping cart. The user then clicks the "Checkout"
button on the site, which redirects the user to port 443 for the checkout process. Suddenly, the
user's shopping cart is shown as empty. The shopping cart data is stored in memory on the
server, and the default source address persistence profile is used on both virtual servers.

What is the issue?

Options:
A- The port 80 pool member is deleting the user's session cookie.
B- The port 443 pool member is deleting the user's session cookie.
C- The port 80 and port 443 connections are balanced to the same node.
D- The port 80 and port 443 connections are balanced to different nodes.

Answer:
D

Question 2
Question Type: MultipleChoice

-- Exhibit --
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-- Exhibit --

Refer to the exhibit.

An LTM Specialist is troubleshooting a new HTTP monitor on a pool. The pool member is
functioning correctly when accessed directly through a browser, although the monitor is marking
the member as down. As part of the troubleshooting, the LTM Specialist has captured the monitor
traffic via tcpdump.

How should the LTM Specialist resolve this issue?

Options:
A- Add the 'http' monitor to the pool.
B- Add the 'icmp' monitor to the node.
C- Modify the receive string to valid content.
D- Correct the firewall rules on the pool member.

Answer:
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C

Question 3
Question Type: MultipleChoice

-- Exhibit --
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-- Exhibit --

Refer to the exhibits.

An LTM Specialist uses the information in the logs to determine the cause of a failover event in a
high-availability (HA) pair.

What caused the failover?

Options:
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A- The overdog process crashed.
B- The system was administratively rebooted.
C- The process bcm56xxd received SIGTERM from the watchdog process.
D- The configuration reload request caused the config to reload and the device to failover.

Answer:
B

Question 4
Question Type: MultipleChoice

-- Exhibit --

-- Exhibit --

Refer to the exhibit.

An LTM Specialist is troubleshooting an HTTP monitor that is marking a pool member as down.
Connecting to the pool member directly through a browser shows the application is up and
functioning correctly.

How should the send string be modified to correct this issue?
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Options:
A- GET /\r\n\r\n
B- GET / HTTP/1.0\r\n\r\n
C- GET /\r\nHost: \r\n\r\n
D- GET /\r\nHTTP/1.0\r\n\r\n

Answer:
B

Question 5
Question Type: MultipleChoice

Which command should an LTM Specialist use on the command line interface to show the health
of RAID array hard drives?

Options:
A- tmsh show /sys raid disk
B- tmsh show /ltm raid disk
C- tmsh show /sys raid status
D- tmsh show /ltm disk status

Answer:
A

Question 6
Question Type: MultipleChoice

-- Exhibit --
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-- Exhibit --

Refer to the exhibits.

An LTM Specialist has configured a virtual server to distribute connections to a pool of application
servers and to offload SSL processing. The application fails to work as expected when connecting
to the virtual server. It does work when clients connect directly to the application. Two packet
captures were taken at the application server.
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What is the root cause of the problem?

Options:
A- The application servers are NOT listening on port 80.
B- The LTM device is sending non-SSL traffic to an SSL port.
C- The virtual server does NOT have a clientSSL profile assigned.
D- The SSL handshake between the LTM device and the server is failing.

Answer:
B

Question 7
Question Type: MultipleChoice

-- Exhibit --
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-- Exhibit --
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Refer to the exhibits.

An LTM device has been configured for load balancing a number of different application servers.
Configuration changes need to be made to the LTM device to allow administrative management
of the servers in 172.16.10/24, 172.16.20/24, and 172.16.30/24 networks. The servers require
outbound access to numerous destinations for operations.

Which solution has the simplest configuration changes while maintaining functionality and basic
security?

Options:
A- Remove 172.16.10.0:0/24, 172.16.20.0:0/24, and 172.16.30.0:0/24, and keep 0.0.0.0:0/0.0.0.0
enabled on all VLANs.
B- Replace 172.16.10.0:0/24, 172.16.20.0:0/24, and 172.16.30.0:0/24, with 172.16.0.0:0/16, and
keep 0.0.0.0:0/0.0.0.0.
C- Enable 172.16.10.0:0/24, 172.16.20.0:0/24, and 172.16.30.0:0/24 on ingress VLAN(s), and
enable 0.0.0.0:0/0.0.0.0 on egress VLAN(s).
D- Enable 172.16.10.0:0/24, 172.16.20.0:0/24, and 172.16.30.0:0/24 on egress VLAN(s), and
enable 0.0.0.0:0/0.0.0.0 on ingress VLAN(s).

Answer:
C

Question 8
Question Type: MultipleChoice

-- Exhibit --
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-- Exhibit --

Refer to the exhibit.

An LTM Specialist is troubleshooting an issue with an application configured on an LTM device.
The application works properly when accessed directly via the servers; however, it does not work
when accessed via the LTM device. The virtual server, 192.168.1.211:443, is configured to SNAT
using the address 192.168.1.144 and references a pool with the member 192.168.10.80:443. The
virtual server has no Client or Server SSL profiles associated.

Which configuration change will allow the application to function through the virtual server?

Options:
A- Change pool member port to 8443.
B- Change virtual server port to 8443.
C- Add SSL off-loading to the pool member.
D- Add Client and Server SSL profiles to the virtual server.

Answer:
A

Question 9
Question Type: MultipleChoice

-- Exhibit --
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-- Exhibit --

Refer to the exhibits.

An LTM Specialist configures a virtual server for an internal application to perform client-side
encryption while allowing the server-side traffic to be unencrypted. Application users report that
images are NOT loading through the virtual server; however, images load when going directly to
the server.

What should the LTM Specialist configure to allow the images to load through the virtual server?

Options:
A- HTTP profile with 'SSL Offload' enabled
B- HTTP profile with 'SSL Offload' disabled
C- Stream profile with source 'http:' and target 'https:'
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D- Stream profile with target 'http:' and source 'https:'

Answer:
C



F5 Networks 301b LTM DUMPS BY Wilkinson 09-08-2024 9QA vceexamstest - Page 17

To Get Premium Files for 301b Visit
https://www.p2pexams.com/products/301b

For More Free Questions Visit
https://www.p2pexams.com/f5-networks/pdf/301b

https://www.p2pexams.com/products/301b
https://www.p2pexams.com/f5-networks/pdf/301b

